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1. 3x3-2x%4+5x+k i1 X — 1 ifudnlsznou ssmm k

N. 6 9. -6 fl. 5 3.-5
. —b c
2. (2x-1)(3x+1)(x+2) = ax®+bx*+cx+d A — +—
a a
n. -13/6 V. 13/6 A.2 1.2

3. 2X%+3x-5 = (x-1)(ax+b) ssmia+b
n. 3 V.5 A7 4.9

4. 2XC-TXP+TX-2 w1380 2x°-3x+1 ¢ 1dnadnsaseiudola
n. X+2 v. X+1 a. X-1 L X -2

s5.8muald X = 2 2 XoAx+1

1 1 1 1
q.

Yy — fl. ———
3/2 21 J2 -1 32 +1 J2 41
6. fmua X°-x+1 = 3193 uay X° = 185193 wim X +1

n.57 V.58 f. 59 3. 60

f.

7. 8 X*-3x3 + 2X%+7x+K 113810 X — 1 asdn 81v13ane X+1 azmaesmiils

n. -5 ¥, -8 a.5 .8
8. dmua f(x) = 5x*-33+2x%-7x+k &1 f(1) =5 sam f(-1)
n.11 ¥, 12 a.13 114

9. 3X*42x3-5x%+7x+k 113dae X+x+1 ey 15x+1 ek
n. -5 Y. -6 a.-7 .6

10. (2%-1)(X+1)+(3x+2)(x+1) misaaw X — 1 aiiamndensaiudola
n. 11 ¥, 12 a.13 314

11 (2x+1)%+(2x-1)2  msdae 2x°+3 ez l@mamsiioei'ls

f. 2X . 3X f. 4X 3. 6X
2x2 =3x=1D)(X=3) +(x+4)(x-2 ,
12.( ) ) +( X ) LM ADIAINT 1S
(x-1)
n. 1 . -1 n.2 3.-2
2 2
XS+ 2X=TN(X"+ax—=7)+(x=2)(x=5) . e ,
13. ( X )+ ( X ) TiAumasmINY 5 9am1a1 a
(x+1)
n.61/8 V. -61/8 f. 63/8 4. -66/8

14. x3-y® = 911342 yaz X*+xy+y? = 10597 same1 X - y
n. 82 9. 83 f. 85 3. 86
15.5+y? = 914004 uaz x>-xy+y? = 8463 w1 X +y
. 88 9. 97 f. 98 3. 99
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